1
Piiklad 1.10 — _dx
/ V3 + 2z — 22

A A / A
- e - _ Lo
S 3"‘2%’_;((1 g\lﬁ—(k’i_’z){) (JS"()( __/132_;/\' OL( jﬂ——(}(,/\\l

oAx A ! A " ¢ = feen
- by —_ _ d -
N7y M Ny roae R K
‘ i~ A
= 7 2 - -é’Z = rLECRA NN ‘(_L =



22 —2rx -7
dz
2?2 — 2+ 1)(2%2 4 2x + 5)

Priklad 2.4 / (

i
X =9« -3 e t ,{,’ oAk _ A« 4 A A— X _
(=24~ 1) (AU~ S) 2} x~-A (=D 2 ) k= o _®
—
A

£ KRax-7 A R Cx 4D

=

-

(X=-NNU(&1-2%4S5) =4 (=M 2426~48

K=2a-T % A A S ) B (1420 5) # (C ADY( 47— 25 4)
=35 F = A A AR A ~SA BB A5RAC L D O O 42 D = D

x> 0z A “C A 041 o]0 20100
X = AR -2 C4D (R A I o A-% 4|4
a (d ~v
XTig <84 28+ C - D 3 2 AT 014 1[4
k7. =3 7-SA4S8 4D 550 1|9 05513
0131 (1 0613 4|1 | Drxfune .t =-1
00 4-4|1 D 04| |DeAsD -4
00513 00 072L|1 ] =04
A~ X A (-2) <2 4 2x-2
= 2 A et 2
e d
2},.(1 -é_(/Z__(?X'_,5 N —/101{?/&/‘ i 9
R = ngﬂﬂk—fS df<<9,g~il>olk | Z = lfl\,@u(k —(22ASB
A A oA _4§ A Jc—-%(xfm)/
SRS (AN S )G GV R AT ean] | = 4 ol

i = 1 S3nid
= f,l_,_(_z‘Z_M’d’%{—zMﬁL

D= §talit| « L5 -4 2 (F2245) L onely Y2




3xr + 2

Priklad 3.5 —d
ra 24+ 2x+3 v
kAT 2 (Jx-2) = A 3 [2x~2 A @
frfr’—'ﬁo‘v [ e
X xR TS X AL~ FRERT RN
— -

€= xS | e 4
At =(Qx~N d& |7

22~
= \ ==l
Agm

v 2
t 2z
T
A Ax oA A Ak STaT e
E: 0(_?; < _‘—’—'ZE d(S:i o‘-( =
PEEYER (G- 1=2 " 2= Cxmny? Ao | 7
r R Aoz ole
(gt = m-5% /1 —’DM"?\/—@'Z—*S
:—Z\_\l’ig 0’(5 /]-—r\SQ - /‘41—2/’45-—4& M S Al - QA?_M'?_:A ~ /;7_14 ;
F3 (A= &% ¢ Py R Im s

Ao 2m Lam (W= g G2l

< A
t//b\'l L//HQ 2 /"\'z

<

A 1A A ,
s ol B R R N P BN (7= S EYN o=z L
o 2

AN ~(A
245t are4q ~ =

3 =

- O

e

XMJW‘

© - 5778 o e[ 5en 71 <
=’5\})f’ﬂk~(6 w,@/v\(/"“‘/‘”‘ V22 (" §o (% tC =

|4
ey [Taxan - lhan < faa |+ K




